
direction

1

≤ 180 > 180

direction

2

≤ 109 > 109

dpressure_west

3

≤ 0 > 0

Node 4 (n = 2496) 

 mu = 93, kappa = 0.00021

E

N

W

S

Node 5 (n = 5980) 

 mu = 83, kappa = 0.00068

E

N

W

S

speed

6

≤ 1.2 > 1.2

Node 7 (n = 2057) 

 mu = 160, kappa = 0.00019

E

N

W

S

Node 8 (n = 3548) 

 mu = 130, kappa = 0.00054

E

N

W

S

dpressure_east

9

≤ − 0.2 > − 0.2

Node 10 (n = 3891) 

 mu = 250, kappa = 0.00027

E

N

W

S

dpressure_south

11

≤ 3 > 3

Node 12 (n = 6992) 

 mu = 260, kappa = 0.00083

E

N

W

S

Node 13 (n = 4406) 

 mu = 260, kappa = 0.0011

E

N

W

S


